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NOTE: Write answers to the questions on objective answer sheet provided. Four possible answers A,B,C & D to each
question are given.Which answer you consider correct, fill the corresponding circle A,B,C or D given in front of each
+ question with Marker or pen ink on the answer sheet provided.

1.1. What is money? ‘e slpWesi 1.1

- (A) coins of gold and silver &LL(sbiy | (B) agricultural crops U5
(C) paper money it
(D) every thing which can be used as a medium of exchange .!'EJL";‘"}{J}J’LJJ?JT.K Ao

2. During depression: (S iksr 2
(A) employment increases .a‘;.t'igmi:;b’,iu | (B) prices decrease Lg:!@fd'f i
(C) profit increases qf.t'[gm.'}:étﬂ' (D) prices increase Ugatfwzu;"*-f

3. Absolute advantage theory was presented by: WPl 3
(A) Adam Smith LJ’[{:T (B) Prof. Walker Z- l:/é:{: (C) Ricardo  Z_s5/. D) Marshal Lk

4. Who wrote the book named " Principles of Economics"? W el 4
(A) Adam Smith ﬁ"?:f (B) Marshall Jf.'zl.: (C) Robbins . (D) Cannon ;j’(

5. When marginal utility is zero, then total utility is: ..r:'_.t‘!fulif(f;ﬁ}"uﬁf??ﬁ 5
(A) minimum (¢  (B) positive =5 (C) maximum olicst; (D) zero 3

6. The goods on which law of demand does not apply, are called: :L)g(jlkﬂt'ﬁuﬁjﬂblb’u,ﬁuﬁﬁ’{c}’vl}l&l B
(A) services =l (B) goods and services =il
(C) giffin goods r?lc;af (D) capital goods L2 L~

7. When demand decreases due to other factors instead of price, it is called: _.f_btgquc.J?LLyﬁfJ:wg:JJl!L/m;wL.:.f - .7
(A) rise of demand  beyK_tb (B) fallof demand  t/¥_b
(C) contraction of demand v (i (D) extention of demand kg ¥

8. The cause of positive slope of supply curve is: :g:JLﬁaﬁEE{KrzLﬁ 8

(A) change in cost of production J; Ll eIV
(B) fear of increase in cost of production and decrease in profit :—Mu@i'dwuuu:ﬁéghj}w

) (C) change in technique of production ifdﬁg,.@) (D) increase in per unit profit JL-‘»U(‘;I:’-JB’IG;E.H:.-E
9. Reserve price of a commodity is that price: :;‘:..;.-éui;ﬁ".:af JE.J( 9

(A) which is more then the cost of production of seller nu_i,i;:,zjjf,x_;.:ﬁlgﬁbf:.i:}ﬁ

(B) at which the seller sells his commodity in the market b/ =3 U LE S =31}

(C) Which is equal to the cost of production of the seller ﬁﬁ;-ﬁ,}‘g&ﬁ&gﬁéj}ﬁ

(D) below which the seller is not ready to sell his commodity s2(Slyd Sess 2 (§ubessfred |fc..u"

10. In modern term, factors of production is called: -q_t‘lf"»fﬁbub‘u_@fﬁﬁo&u .10
(A) inputs J;Lr. (B) production services A S0l
i (C) inputs and productive services .:et.a&d;!ﬂ,_r,;;.:;ﬁ,a (D) production of goods and services JJ;),:;L{:.:LAE:;?I
11. When average product increases , marginal product: _;f;!ﬁﬁ?.;_.ﬂ“”x;hiégml.fa 11
. (A) decreases .:..(juf (B) is zero c;.fil.;rﬁ)‘ (C} is negative :;.J'.gﬂ(_f" (D) alsoincreases ;E.J"ELS{
12. One of the followings is not included in implicit cost: :;;-_u.?"JL:kﬁ::.u:J:jtmu:_.hW/" 12

(A) interest of entrepreneur's own capital .!Fb/E_L/E;kC-..ET (B) rent of building ,___,r/s’.;,_;l.f
(C) reward of entrepreneur's own labour J:b»l(:-’fd;fJﬁT (D) reward of entrepreneur's own land u@ﬁi;f:}d:_ 1Sz

13: Monoply is opposite to: —e Sl 13
(A) perfect competition J,J_-tﬁ'q}’: (B) imperfect competetion J.&E'AJ‘S-E
(C) BothA&B s (D) oligopoly J{j;l.wl.gmg

14. Marginal revenue product curve is called: ' :ﬂ;,t'lgl{fﬁﬁajmjmﬁﬁ 14
(A) demand curve of the firm  Abskr/ (B) supply curve of the firm  wubs¥7/
(C) demand curve of industry  LE= (D) supply curve of industry avksbes

15. One of the followings is not included in net national product: -x;_u.?UW.:hlﬁ.d 36 .15
(A) consumer goods ;-_Lﬁfé/-" (B) capital goods p_lﬁuf_.,h Ve
(C) capital formation Ak (D) BothA&B (s
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Principles of Economics (Essay Type)

 Time: 2:10 Hours &£ 2:10:% 60: /7
Section -1 2x18=36

Marks: 60

2.
.

i,
Iil,

v.

Vi,
Vii.
viii.
iX.
. Write short answers of any six parts from the following.

ii.
iil.
Iv.

Vi.
Vii.
Viii.
iX.
4.
.

Write short answers of any six parts from the following.
In which four parts Prof.Adam Smith has divided his book
" Wealth of Nation"? B
What is meant by Economic laws?

What is meant by the marginal utility?

Define the law of diminishing marginal utility.

. Write two assumptions of the law of demand.

What is meant by the extension and contraction of demand?
State the meaning of supply.

Write the formula of measurement of elasticity of supply.
Write any two conditions of perfect competition.

. What is meant by capital?

Define law of increasing return.
What is meant by marginal product?
What is meant by average fixed cost?

. What is meant by marginal revenue?

What is meant by short-run?

65 | 4
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Draw average revenue and marginal revenue curves under perfect competition. S hLﬁ&dﬁﬁ:ldﬂJﬂchﬁJﬁJ’{ Vil

What is meant by labour?

What is meant by normal profit? |
Write short answers of any six parts from the following.

How do we find net national income from gross national income?

S sl et Vil
?ﬁ'.JT/_L_rrL..éb*drF AX
2x6=12 -EEUQLLEF?ZHZJ{LJ:E-JJ_JZWJ 4
Ut L)F’:L”' 4 L.SJTU ;u“‘ Gc.-&,&fd ;"r".v N

. 1/ at L ST ”
ii. What are four important hurdles. to accurate measurement of national income? ?ujff;ﬁ:bﬁﬁbggfuﬂk_;wmf ST s i

i,
v,
V.
Vi,
Vii,
vii.
IX.

Note: Answer any three questions from the fnlluwing; - 8x3=24

What is meant by inflation?

What is meant by token money?

Wiite the definition of "Zakat". | |
Write four causes of deficit in balance of payment.
What is meant by indirect tax?

Write four canons of taxation.

Wirite names of four phases of a trade cycle.

Section -1I
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5. Compare between Prof. Marshal and Prof.Robbins definition of economics. S /"'J;.:kﬁlﬂf j:l,y.':’:{;:lﬁi. /.':’:{_ 5

6. Differentiate between extensiﬁn and contraction of supply and Ju")ufi.faz.uiifﬁiﬁ,{dyx .6
rise and fall in supply. o _f folss

7. For equilibrium of a firm under perfect competition its marginal cost E’JF.,,a;i:_Jﬂui.sziji?:ﬁswr)._g  f
curve must intersect marginal revenue curve from below. | ..ﬁ:.pt'/ fcﬂé;ﬁi&u“ bﬁﬁ&:f Uﬁ
Explain with diagram. | -L{/.:-gw_u:.;..ufrlfli

8. Explain the circular flow of national income with the help of a model. -a‘ﬁ-;fhfhwunf il;;:d;}’l:ﬁ.&ﬂd J B -

9. Write heads of public expenditu.re in detail. ;u::’”’wa.«w;(:.riflﬁld;@f 9
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NOTE: Write answers fo the questions on objective answer sheet provided. Four possible answers A,B,C & D to each
question are given.Which answer you consider correct, fill the corresponding circle A,B,C or D given in front of each

question with Marker or pen ink on the answer sheet provided.

1.1. Professor Robbin's book " Nature and importance of Economics" _Jﬁéﬁ‘bﬁhcgﬁu{p?bﬁ;" S ;‘:U/:'f;.; 1.1

was published in:
(A) J~s1915 A.D (B) U~#1932 A.D (C) U~+1934 AD (D) V<1937 AD

2. Slope of marginal utility curve is: _r.;_mib:’q%;ﬁr"ﬁ“" 2
(A) positive = (B) negative (_E" (C) vertical (5#F (D) horizontal &
P AR A SIS

3. Demand for necessities of life is:

(A) less elastic zbﬂ‘f (B) more elastic xL&guLJ
(C) perfectly elastic LS (D) perfectly inelastic ¢ #

4. According to law of supply, which factor changes to supply? Ldeyﬁf;/(flehfﬁr;u:’h
(A) cost of production ﬁé;_jxw (B) price =
(C) climatic conditions = by (D) level of income J.lf-"b/JJT

5. Who determines the reserve price? T:‘:.,t"/g/""ujﬂfﬁ".:.af 5
(A) buyer s/ (B) seller U
(C) Government ol (D) District Administration ,.th/id'li

6. The most important and basic factor of production is: | -c;*uﬁ,sh;J b nlfile o 6
(A) land rJ (B) Labour = (C) capital L/ (D) organization (:b;

7. When average product increases, marginal product: :JIJU_;FJ;I:E-JD skl 7
(A) decreases ‘:-_dlf-/ (B) is zero +dﬁ}’ (C) is negative r‘_--d:fd’ (D) alsoincreases .:;.{3‘"’ :«:L,‘”:

8. Average revenue is equal to: —eUrslabrabe) 8

(A) price L=t (B) total revenue L
(C) marginal revenue A’idﬂ:f‘? (D) average cost Lokl
9. In monopoly, when total revenue of a firm is maximum, then its uL;c,uL.:dﬁJJ /Ju*_ﬂbd/d;lsa;b! 9
marginal revenue is: dc.drdﬁf{..—hdrfc.dr
(A) maximum wslicesks (B) minimum H;_f, (C) zero # (D) negative :_?"
10. Cost of firm on the optimum combination of factors of production is: _;;L}r._f UJr/zJ /id;Lud:u’!yu‘LLp 10
(A) minimum r{:( (B) maximum eslicsilJ (C) reasonable i+ (D) None of these A Jf;,u"ul
11. Equlibrium level of national income means that point where: .uLﬁ.—;_,kﬂa:;/.:,i‘u;f:’JdﬂU:’ s
(A) consumption = saving  wf=J 2 (B) consumption = investment /6.l =~

(C) income = saving + investment (/6 + ef= 4T (D) saving = investment (/i = =2
12. Prof. Fisher presented quantity theory of money in the form of an equation in: _gﬂu:fJ_muLzﬂj JL:.'E:_,/E"E_ /‘"/f:};,; 2
(A) =+1905 A.D (B) 51911 AD (C) v~+1915 AD (D) ~+1917 AD

13. Economy gets prosperity during: 5, &SSPt 13

(A) recession  (e=2lp (B) depression iUl
(C) boom LS (D) recovery Uil

14. Advantages of international trade are: Ut L SIS A4
(A) one LI (B) two s (C) three £ (D) many AP

15. Sales tax and excise duty are: _L,_?Jgiﬂ-fbﬂd@f 15
(A) direct taxes ;JC el (B) indirect taxes JE:.EAJJ[,
(C) proportional taxes JC e [ (D) progressive taxes (41>
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. Differentiate between expansion and contraction and
. Explain the law of increasing returns with schedule and diagram. Also

. Define money and give its functions.

. Describe merits and demerits of intenational trade.

Section -I1 r::.b

Describe the merits and demerits of definition of Economics by uytémuyﬁbeﬁJ:,fwufwgJ ;F:I.:/::’:,_:

P

Prof.Robbins.
Uk

rise and fall in supply.

discuss its application. _L,_ijwwﬁubimﬁﬁw_qfa_riﬁu

902-011-A-

OAS L Sezo st Sk fons
,-;qu:ﬁ:fa:ﬂlh JJ{J”IL{/L:JL’L}JL’A&FL:J;G' :

_L{;&Jkﬂ/iﬁxﬂ:fq:ﬁé’/‘j&} 8
S e WL = ST 9

Marks: 60
) Section -I 2x18=36 40‘)3";}
2. Write short answers of any six parts from the following. 2x6=12 _¢ :.«I,fﬁ/"?aﬁfljﬁ.’hga.afa.u-fd_ Sl 2
- i. Economic laws are conditional. Explain the statement. S oSl U b S 1S
ii. Write four educational advantages of study of economics. -q)},é’!}a‘ﬁgél;r&»iagﬁw i
-~ iii. Define the law of equi-marginal utility. S/ P8 b i
" iv. What is meant by positive utility? ?.T_JV_L;Q:#”EI:;F AV
- v. Define Arc elasticity of demand. ..L,f/uy._g/?J_g SIS v
- vi. What is meant by substitute goods? ?‘;_;yg;;-grdg:ﬁ Vi
vii. Define law of supply. St P Sarn 56 i
viii. Write kinds of supply according to of time, period. - rLJIJm;:.EleC:.?: Viii
ix. State the concept of normal price. _L{/u_t_grxj’ E’;Lfd.r!:v JAX
- 3. Write short answers of any six parts from the following. 2x6=12 -E,‘f’gmglﬁﬁl’sz;’:bgc.éfg.gﬂd‘_m» .3
I. Define average revenue. —Efg u-&’/’ULJ" b Lol i
iil. Define law of increasing cost. _ujfhéJ/TJ_i;w/:"%ﬁﬁ' i
iii. Draw AR and MR curves under monopoly. - & b P MRAMIARSL S/l i
iv. Define equilibrium of industry under perfect competition. ?;i:.;y_bfcdwjiﬁﬁyi"afﬁ.éli‘m}; AV
v. Define marginal productivity theory. ,éhéiﬂfdﬂ:iﬂgfiﬁ WV
vi. What is meant by short run period? T.:i:.ﬂ/i;‘/r-_d:b:ﬂ/ Vi
vii. What is meant by labour mobility? SeslpVe Spie/ 78t vii
_;fiii. Differentiate between perfect competition and pure competition. -L{/MQJ}JJWL}"{I};}QM}; Viii
- -ix. What is meant by monopoly? ?.‘a.ﬂ,»-g-f’:_.d;uu@r JAX
.,F 4. Write short answers of any six parts from the following. 2x6=12 _E:."U @Lfﬂﬁyﬁ.frﬂgcdf:.ddj@u 4
- " i. Write names of methods to measure national income. _u:."f'tﬁuﬂ /’f_i._/f E;.J {:QATJ f ¢
ii. State the concept of personal income. ,L;;fu;gpf” ¥ J.:,Tu‘:"r i
iii. State the meanings of metallic standard money. _L,_r/wgrﬁ*“s:u[;w;y il
iv. What is meant by near money? ?,T_Jl/l_f.:_zjﬁ.;'} v
v. What is meant by multiplier? SeslPUecils v
vi. What is the objective of establishment of Internatinal Monetary Fund? ?;‘:,@be’(géﬁu’;}wfmcﬁ Vi
vii. Write four measures to improve balance of payment. H&:r{ fé.f, );_Iféli.ﬂm[yﬁuiuﬁf iy vii
viii. What is meant by progressive tax? ?.‘a.:yl_frc.ug’fj-“ Viii
ix. What is meant by deficit budget? Selple LEL LS ix
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NOTE: Write answers'to the questions on objective answer sheet provided. Four possible answers A,B,C & D to each
question are given. Which answer you consider correct, fill the corresponding circle A,B,C or D given in front of each

guestion with Marker or pen ink on the answer sheet provided.

1.1. Who wrote the book named " Principle of Economics"?
- (A) Adam Smith &7 (B) Marshall A ()
2. When marginal utility is zero, then total utility is:

. (A minimum  def (B) maximum  ssbicasls (C)

" . substitute it is called:
) (A) cross elasticity ..g(f’i.‘éf*
(C) income elastcity ..QJJT
4. If supply increases due to increase in price, it is called:

(B)
(D)

(A) extension of supply bk 8. (B)
(C) rise of supply  t=%Ex (D)
5. The cause of change in price of perishable goods is:
(A) supply v (B) demand ¥ (C)
6. Free gift of nature is:
(A) land &) (B) labour = (C)
7. Whe total product is maximum, the marginal product is:
} (A) positive = (B) negative (C)
8. Number of firms under monopoly is:
(A) one LI (B) two s (C)
9. A monopolist firm usually earns.
(A) normal profit Gt-ds™ (B) abnormal profit Sds*# (C)

3. if the demand for a commadity changes due to change in price of its

ol e =P e 0 11

Robbins  #is (D) Cannon 5
_:i;_.t'ﬁulifg)(?ﬁ:j""uﬁlﬁ?a 2
positive =& (D) zero A
b S SIFL U ISEN 3
e bl tibn i
price elasticity & =?
arc elasticity ._gnj‘)’
_ﬁ-bb‘u“r&-ijf_—bm/#Jfﬂi/Jf
contraction of supply L)/'Kw
fall in supply £/
e Qnalind #ed GP1alis 5
cost e (D) producer Z7T
_;;,HJBL.:J_U B
capital b (D) organization (—“-E'
—ee Goitilg P Tl e nsimlg S 7
zero (D) decreasing ;:.,u'uf
_.T_.dﬁJFﬂJUF;’Jé:dﬂjuw ,
three o2 (D) four g
e QU bl fFl Sl 9
minimum loss W) (D) abnormal lossglif»*#

e O S Pie 10

10. Demand for factor of production is:
(A) direct =lils (B) derived 57l (C) positive =& (D) negative (_5"'

11. The income which a person can use according to his will, is called: -z,dLbfc.CﬁquL‘fla.o‘/Lgdef?dyLﬁ; 11
(A) personal income AN (B) diposable personal income dﬂ(fﬂ)brld‘b
(C) net income d,a ru“"b (D) per capita income d,uu’( 3

12. Exchange of goods with goods is called: i t-w;’c,r_,.-wf_fw_.e&fn 42

s (A) medium of exchange ol JT (B) store of value I

(C) scale of measure of value ;,EJJ Lok (D) barter system (L?;L

.13. Phases of a trade cycle are: _L{-?J|1J|£/§ L"};LF A3
(A) two  » (B) three 2 (C) four b (D) five &b

14, Included in balance of payment are: _wdepu*fljfu_,u 14
(A) visible items A}IJ/ (B) invisible items @IJ//;;

(C) visible and invisible items (215,220,
15. Government estimates its income and expenditures.
(A) monthly =W (B) quarterly .-
891-011-A-W

(C) half yearly

(D) material items P15l

_ai‘_.aﬁ;fk@f;:fa.ﬁ@iyﬁ R i

S~ (D) annually <ub
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Marks: 60 60: /7
Section -1 2x18=36 1>
2. Write short answers of any six parts from the following. 2x6=12 4‘HW#’£M7W¢J&:@‘J1@: i
I. Define Economics in the words of Prof. Robbins. MJ}JJHL'“LP'EJ/UL*J/IJ/’JJ/ i
il. Define positive science. _L{fug_g/g}/ue)lﬁ i
iii. What is meant by marginal utility? S st niif? i
iv. Write consumer's equilibrium in the form of an equation. Wf,{xfuiﬁ_ﬁf;,ﬂ;@fgﬂ}ﬁd;p iV
v. What is meant by extension and contraction of demand? ?%Jykrﬁré_-/‘c:fJI%‘Lvﬁ V
vi. Define cross elasticity of demand. _q/g,n,._@ﬁd’_gé’w Vi
vii.- What is difference between supply and stock? ?;.;:.,J)l:"u.‘.'u /.E"jﬂw.a Vi
viii. What is meant by éompnsite supply? ) /ifc..mk...f‘:f Viii
- ix. What is meant by market equilibrium? *‘;'-_.:/Lf‘:_.u;u.{ldy X
3. Write short answers of any six parts from the following. 2x6=12 cfgutii/‘iﬁplﬂf;dfc.u';hbﬂ 3
i. What is meant by total production? ?g.:/y’c...aul,g;;f i
ii. Define small scale of production. Sl e /,ia; i
iii. Define opportunity cost. “c-_.:[flfc;,huL-vd:L» i

iv. What is meant by short run?
v. Does a monopolist firm always earns abnormal profit?
vi. Why slope of demand curve under perfect competition is zero?

vii. Draw average revenue and marginal revenue curves under monﬂpnly

viii. What is meant by equilibrium of industry?
ix. Write four functions of entreprenedur.
4. Write short answers of any six parts from the following.
i. What is meant by net national product?
ii. What is meant by circular flow of national income?
iii. What is meant by standard money?
iv. What is meant by bank rate?
v. Define trade cycle.
vi. Define the theory of comparative cost.
vii. What is meant by invisible goods?
viii. What is meant by custom duties?
ix. What is meant by regressi've tax?
' Section -1I
Note: Answer any three questions from the following. 8x3=24

" 5. Describe the exceptions and practical importance of the law

_ of diminishing marginal utility.

6. Explain fall and rise in demand with schedule and diagram.

~ 7."How is price and output determined under perfect competition.

8. Describe the various concepts of national income.

9. Explain different phases of trade-cycle.
892-011-A-7500
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NOTE: Write answers to the questions on objective answer sheet provided. Four possible answers A,B.C & D to each
question are given.Which answer you consider correct, fill the corresponding circle A,B,C or D given in front of each

"question with Marker or pen ink on the answer sheet provided.

1.1. Which factor of production cannot be stored?
- (A) Land (&) (B) Capital I~
2. Money,which is not reward for any labour, is known as:
- (A) Per capita Income (41”3
f.f Il L
3. The trend of decrease in price is known as:
(A) Inflation b1/ (B) Deflation ik ¥
4. Economic up and down is known as:
(A) World crisis QJV-(}J[&
(C) National Income (4745
9. Included in international trade:
(A) goods " 45
(C) goods and services

(C) Transfer payment

;:LAE*};“LEI
6. Sale tax is;
(A) Direct tax ufwuau (B) Indirect tax JE:&/!:JI_,
7. Economic laws are:
(A) Exact (& (B) Rigid !
8. The rate of change in total utility is:
(A) Initial utility »6100e1 (B) Average utility o561
8. The slope of demand curve is from:
(A) left to right upward sl e’ |
(C) right to left downward éujfg.:,(,ffu
. » 10. The reason for expansion and contraction in supply is:
(A) population (LT (B) Technology @.Jt&
11. The supply of perishable goods is:

(A) Fixed 2 (B) Variable />
12. The law of decreasing return applies on:
(A) Industry =2 (B) Agriculture sl

13. Variable cost is known as:
(A) Direct cost iilerminly
(C) Fixed cost islers” |
14. In perfect competition,price is determined by:
(A) equilibrium e I st
(C) consumer < _ile
s 15. The supply of land is:

(A) Fixed o (B) Variable />

(C)

LU 23 P e 1.1

(C) Organization ;‘?-U (D) Labour =4
o QU Bnlabbensal 2
(B) RealIncome (478
(D) Personal payment ﬁerJ
e el Ls Ly 3
(C) Boom 6JUI,I'/ (D) Revival i
- brd| 2 b1 be 4
(B) Trade cycle /gzjxlf
(D) International trade .:,.;_L;"dn}‘uw
:.-I:_JUE'L}:&J_B‘"Q)JI; B
(B) Services i
(D) Foreign Aid sl
u:.:.J"EL,‘)-/ 6
(C) Regressivetax *d# (D) Fixed tax Lo
!ugi_ﬁuff;"(f s 7
(C) Conditional s/ (D) Quantitative /L
:;_Z,}deyfu[iff 8
(C) Negative utility 6§ (D) Marginal utility »s6/7
e tngbub b 9
(B) left to right downward g':._,ffb.:-.,qffl,
(D) right to left upward .;;r;_;fg; u;"b
eI INUEL 1y A0
(C) Income L'},J (D) Price :-A.":
:.;.L}ﬁr;bc_ﬁig%&? i
(C) Zero (D) Infinite s
:;::.t'ﬁJiLHbU‘bJ:wc}:’I? 43
(C) Trade et - (D) Construction st
:L,Eé{!(»_i)bﬂ‘a/f:' A3
(B) Average variable cost  _i/Ler7.f
(D) Average fixed cost Y P20 o B
e bnd e d 50 M 14
(B) government @ |
(D) finance minister <17/

;‘:_Jﬁfi&_)f; A5

Infinite 5471 (D) Marginal ¥

% 891-011-A- W X VY
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N Section -1 2x18=36 ‘;ﬂdﬁﬁ )
» 2. Write short answers of any six parts from the following. 2x6=12 _é& c;l,ti:ﬁ"'ﬁfmhga.df:.udgf_jbﬂ 2

i. Define Economics according to Robins. ﬁq/ug‘..é,!/'{fafwf Asr i
. ii. What is meant by stock? * Sl Yends i
iii. Define capital goods. SIS PEA e i
iv. Define elasticity of supply. uqf._éj/"'&..g Jm v
" v. Define income elasticity. s /U.g S04T v
" vi. Define deductive method. _q/...y /U;z_; }&!}"‘I Vi
vii. What is meant by Normative Science? T‘L:Lrgrc...z-:wi[}‘ Vi
* viii. Define consumer goods. _J/._&f/""Juj;LoE_b’;l Vil
ix. State the meaning of equilibrium price. . _J/ub Kl 15X
3. Write short answers of any six parts from the following. 2Xx6=12 ce:autlijﬂﬁpliif.:.zjfc.,ddu&: 3
i. What is meant by average product? S st e Milachol i
ii. Define law of constant return. et PSS L 56 i
iii. Define Small scale of production. S A i
iv. What is meant by marginal costs? e /.;,r;—__,_“wﬁ R\
v. State conditions of equilibrium of a firm under perfect competition _J/ubnyu;lfLr/Lﬁy ,ﬁfJf.JLvJ‘{ AY
in the short run.
vi. Write different situations of firm's equilibrium under perfect _u:’ﬁuf;ﬂJuJIPLrﬁuiJf;fJLJ;wd‘r Vi
competition in the short run.
vii. Draw a diagram of abnormal profit of a firm under monopoly. -.,ffhrl/?rhf Beds? RL Pl Sl Vi
viii. What is meant by derived demand? Sest e 570 il
ix. What is meant by land? Sl plee 2 ix
.~ 4. Write short answers of any six parts from the following. 2Xx6=12 cﬁdutffﬁérfflf:ﬁdfd-(ﬂgjjbﬂ 4
) i. What is meant by depreciation allowances. “;:.;ffbf;,...fb ;IZ.:L:H/ A
' ii. Define per capita income. : ,é;y /‘JJ G !L/ A i
* jii. What is meant by standard money? | Sl Ve 13 il
iv. Describe bill of exchange. ‘i':_:f/lfc_.dy AV
v. Define innovation theory of trade cycles. é:JL-,.f}’KCI /IJHMZ-UJ/G diF v
vi. State four merits of International trade. q;‘fqbi:’;bi._.«;b'd Pt Vi
vii. What is protection? . (=] fbﬁ.-_.u‘J Luru‘t Vi
viii. Write four items of Public expenditure. é/ /...«LubJHLa!ffd.{/ Viii
ix. Define Usher. - | e slpe i
i Section -1l (3:,.b
Note: Answer any three questions from the following. 8x3=24 _J):’f...«l_.l?c':uﬂlf uf ..-.-.-..J:(:..L)’-’J R107) 1L
5. Explain law of diminishing marginal utility with the help »:.-MJ[’fxﬁlmfc_,;lffJ (‘ﬁ:bh}w DL
of schedule and diagram. _:}::,:La:
& "B, Explain the extension and contraction of supply and rise and fall in supply. -q/ww;Jé_/’fﬁzﬂffl/’{‘ $4L e B
'_' 7. Explain law of increasing return with schedule and diagram.Also discuss ;é_qf;,r!frimulﬁf@wﬂd’ bf{-,lﬁﬁ' oF
| its application. ?,;.t:f{.;xﬁu/&u&ﬂ{w
8. What can be the reasons of inflation in any country? ?L,gé;fclf.:.—wiﬂyﬁuuﬁff .8
9. Describe cannons of taxation. —bf/:ffdﬂii.b‘fvg 9
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question with Marker or pen ink on the answer sheet provided.

14.

10.

11.

12,

13.

14,

(For all sessions)

Paper Code 615|141

(™) @?bﬁdf!

_ 15:4
Qb’z,}i.euﬁ/fdmgr,ezigwrrﬁ:@)

e SN 3 S UsIED L CB A 32
NOTE: Write answers to the questions on objective answer sheet provided. Four possible answers A,B,C & D to each
question are given.Which answer you consider correct, fill the corresponding circle A,B,C or D given in front of each

The Economic Laws are:
(A) Exact §* Ji

Goods achieving without paying price are_____goods:
(A) Economic ;“Lﬁlu;'b» (B) Uneconomic ;Eﬁlfbw/f

(B) Permanent

The concept of Elasticity of Demand was presented by:

(A) Marshall 7L (B) Adam Smith T
The supply of Goods depends upon:

(A) Utility o005 (B) Willingness
Supply Curve of Perishable Goods is:

(A) Horizontal (! (B) Vertical (f
Scale of Production means:

(A) Production Method 1 A¥2_J1x

(C) Size of Business =Lz (SlsK

The rewards for Factors of Production is called:

(A) Costs of Production Jj!ﬁ&_i;w

(C) Fixed Cost  i/lere
A Monopolist controls supply:

(A) Totally (B) Partially
The basic factor of Production is:

(A) Labour =¥ (B) Capital
The reward of Labour is called:

(A) Rent ¥ (B) Interest
Income which a person can use by his will;

(A) Personal income A4

(C) Netincome w4
Inflation is not beneficial for:

VL

VA

A

2

(A) Salaried persons ;wai"':

(C) Industrialists ,Eer

In which trade circle the employment level is low?
(A) Boom o’;ljl_,r'j (B) Recession
Balance of Payments includes:

(A) Visible Goods  ¢~I(S/

(C) Both A& B (4

s~

15. Zakat Rate is:

(A) 2% 42 (B) 2.5% (i

891-011-A-2¢

(C)

(C)

(C)

(C)

(C)

(B)
(D)

S nel 135 1.1

Conditional 53/ (D) Quantitative (§/Lé
:bg(iji:ﬂbedrﬁﬁquaﬁ’ 2
Inferior 414 (D) Superior (FlL =
EJ’J;-‘-;,-;K_QJ‘_,J& 2
Robbins 7. (D) Keynes ;.”
?id,t'ﬂxuuijb’k;:ﬁgf 4
Price  yud (D) Output z.lslk
LKL 5
Oval (§»* (D) Cross wise (F7
_%..!L/(“_.Jj;&; <k 6
Technology Ljfﬂb-?fﬁ.gﬂ)’

Nature of Commodity =92
et d Pt 7

(B) Variable Cost i/t

(D) Marginal Cost a..i;bvﬁ
| 1;:;_t‘!?dj%__f#)b/fﬁrjulgl 8
(C) More sl (D) Absolutely NilLZ
N i.—:_(,ﬂ*_-_d"lsdjy 9
(C) Enterpreneur fi"" (D) Land  rJ
' e b osbeKer 10
(C) Profit &b (D) Wages =2
:.;,..,.J-E'»‘E/(_-JATJUJMJ;} A1
(B) Disposable Personal Income ;;J,:.Tu"{ifUG‘
(D) Per capitaincome Gl s
?‘?..t'ﬁujl.-n'ijyu{:.;}éffi 12
(B) Traders .2t
(D) Government i
?s.:;.(}:ff, 5&()};%;};;}’{ L/g [3.1[5-: A3
(C) Depression (lilsy (D) Revival (=
il gy 14

(B)
(D)

(C)

Invisible Goods #2184
None of these U0 il

<5507 15
2L I B

3% (D) 3.5%
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Marks: 60 Time: 2:10 Hours & 2:10:=% 60:
Section -I 2x18=36 JJ.'&'L.E
2. Write short answers of any six parts from the following. 2x6=12 & pylﬁfyﬁpl?w:.df.;.‘ﬁgfibn 2
i. What is meant by Macro-Economics? ?LJL/U’:..._-L»#&-
ii. Define Science. ..J/r...nfj’gfr]‘ .ii
#i. What is meant by positive utility? ?‘;.ﬁ;y’;,uw_.pg dii
iv. What is meant by saturation point? te /LE,LS/JW v
v. Write down four assumptions of Law of demand. U:BE\--'LP!["JL?ZJLJJ‘E' WV
vi. What is meant by substitute goods? fes /lr‘?-.fwdﬂifj Vi
vii. What is meant by Joint supply? S Ye sl 7 il
viii. Write the methods of measurement of elasticity of supply. _ufgﬂ.)iujk* Z.JJ.W Viii
ix. Write four conditions of Market. ..u':’in/;bg Sa ix
3. Write short answers of any six parts from the following. 2x6=12 _gg_.fuy/‘f&rym—..dfa.ucghw R
i. Write the definition of land. 2 A O
ii. What is meant by labour? Sl =2 i
jii. Define constant return. - .,L,_{f...afi;,)’ bOLEWIE il
iv. Define marginal production. " _ﬂ/&lﬂy(" v
v. Define firm. -Jf._.-iﬁJ v
vi. What is meant by longrun? el lff_.d’ ,Lg_,/ Vi
vii. Write the conditions of pure competition. 4’{ A PE il
viii. What is meant by opportunity cost? {'LJ/L'C'_'..-L_-JWJJLF" Viii
ix. Define monopoly. -J/._ﬂﬂ_!’dﬂ:ubf iX
4. Write short answers of any six parts from the following. 2x6=12 !ut'fﬁ&fj]wégfﬂ-g;d}b}.l 4
i. Write four difficulties in measuring "national income". _u:‘”d._fuf-ubu' u’ v J YA N
ii. Define subsidies. NS T A
iii- What is meant by monetary policy? S st W 5L i
iv. What is meant by metallic money? = /Lfr-_udlm v
v: Write four characteristics of trade cycle. ufﬁuhr"’;btf/‘; diF v
vi. Define favourable balance of trade. -Jf._nrﬁ_}’....;l.s'u;udb' Vi
vii. What is balance of Payments? ‘T‘c.drl.f uuﬁmu;u” Vi
viii. What is meant by Direct Tax? "‘r_,:,f/Lfc_. ...-fLer Vil
iX. Write four sources of Public finance. u‘“’)j('jbubé:d.&fdxﬁ;-’ X
Section -II 0 k>
Note: Answer any three questions from the following. 8x3=24 _qéfggmﬁaurf u_’ c:-J}(:'_-U:LZ.iEm W2y
5. Explain four merits and four demerits of Professor Robbin's ugGkasfugﬁ;gJaﬂbﬁbﬁLuh@fJ ;:-J{/E’:{ 9
definition of Economics. ..&f/.-.—.;unf
6. Describe the measurement of elasticity of demand with the help of total _@gaé_- )Z&iffkﬂ._g J.._-U’ .6

expenditure method.
Explain law of increasing returns with the help of schedule and diagram. -qf:.rFfriﬂLf_.;Iﬁf _-.JLBJJJ' b/f{-)j'l‘f 7 4

Describe the characteristics of good money. -q/ug....il.-cﬂé:;jaf 8
Describe the advantages of International Trade. -ujfujyﬂ;’.ﬁ:.utf’d 1S .9
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NOTE: Write answers to the questions on objective answer

_Q)/c.(}}Jw_’v&/zt/(_.;b}";ufu:ﬁt[.ﬂmc, B,A
sheet provided. four possible answers AB,C & D to each question are give. whick answer

you consider correct, fill the corresponding circle AB,C or D given in front of each question with marker or pen ink on the answer skeet provided

1.1, Therent ofbuilding is called: e b Wit 1]
(A) Averagecost Iilwhost (B) Marginal cost »J/W'(-""
(C) Fixed cost e e (D) Variable cost iy >
2. Demand for factors of production is: {_Jﬂ.__);, u"{ !,y,_,:" “« 2
(A) Positive =2 (B) Negative (* (C) Direct =rinlz (D) Derived &
Equilibrium level of national income is attained at a point U_’,_f__y,,,;/(_fu;:?u@, 1) 3
where:
(A)  Saving = investment UKzl =2f  (B) Consumption = saving =f=dys
(C)  Consumption = investment UKy =T (D) Income = saving + investment G prat = Jal
4. That money whose face value is cqual to intrinsic value is called: :‘gru/ n/,I/.:JL(}? Py ﬂ'o'g,(u)' o
(A) Tokenmoney 3w (B) Standardmoney LSt
(C) Papermoney %y (D) Creditmoney  ifaxt
5. A firm eams in long run under perfect competition: e (PESP oyl SV % 3
(A)  Normal profit d]-»d,f‘ (B) Abnormal profit Be by e
(© Loss bl (D) Abnomal loss g F '
6. Thetaximposed on imports and exports is called: :_a':lifu’? 4taTpeinls 6
(A) Sales tax ‘fg * (B) Income tax j fl
(C) Custom duty Jgif/ (D)  Central excise duty J,ﬁ/’ WJ A~
7. Atboom period the state of income and employment is: :5 St it QaT L Zsane/l 7
(A) Maximum q_ax}',‘:& (B) Minimum g_Jn}[
(C) Rising 0" (D) Declining Py
8. The theory of absolute advantages presented by: Y s - /FJ 7S },_'vr =5 diing 8
(A) Marshall LLP A (B) Ricardo inks (0 Keynes 257 (D) Adam Smith &5 i
9. Therate of Zakat is : ‘s f;;/‘ 9
W) 2% s (B) 25% s (©) 3% s (D) 35% dfen
10.  The purchasing power of money is called : . _L:.::Ck‘/b_ J=iS; a0
(A)  Value of money ) (B) Quantity ofmoney ;15
(C) Instrument ofmoney ;7 (D)  Credit money DAY
1. According to Adam Smith, Economics is a science of: 34—,’"-:'_-5’\:‘. ;-,.4:;/‘,;‘. -}
(A) Time ¥ (B) Action ¥} (C) Wealth ¥=/y, (D) valee .3
12, When total utility starts declining, then marginal utility is: :‘:_:'xui',"-‘? Fg_:/’u;:‘f__,g 12
(A) Negative (B) Positive =2 (© Zero p~ (D) Infinite s
13. Ifthe increase in price is 1.0% and decrease in demand is15%, -Jﬁ-{IJ—.’on{u’-’-ﬁ 15%e 0% 2232 /13
then elasticity of demand is:
(A)  Equal to unity Az L ¥ ()  More than unity viie ¢
(C)  Less than unity [ = Jv (D) Inelastic 2.8 7
14, When there is equal increase in demand and supply then = - o
: cquilibrium price will: :{'d”“""”""‘"‘:d""-””""""-'/-v:"&."—.—? 14
(A) Increase nls (B) Decrease £
(©) Becomes zero «Jbrnp (D) Donotchange dndt s
15, When average product starts declining, then marginal - e .
product is: =€-i3m"’4’,f‘f ;.j_;,:/,uf,_.«,_p:f._z 15
(A) Remains equal to AR e 0Uasliiighs)  (B) Lessthen averageproduct < (F° ,‘;G_‘. 9 g st

(C) Becomeszero q_Jl_-n/" (D)

Rises <5
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Section-I
2. Write short Answers of any six parts from the following: ~ 2'x 6=12
i. Why human wants are unlimited?

{i. Write the definition of Economics presented by Alfard Marshall.

{ii. What is meant by marginal utility?

iv. What is meant by law of equal marginal utility?

v. Write four factors / causes of change in demand.

vi. What is meant by Point Elasticity of demand?
vii. Explain the difference between stock and supply.

viii. What is meant by Reserve Price?

ix. How market equilibrium is determined?
3. Write short Answers of any six parts from the following: 2x6=12
i. Define law of increasing returns.
ii. Describe large scale production.
iii. Explain total revenue.
iv. Define monopoly.
v. State the abnormal profit.
vi. What is meant by equilibrium?
i vii. What is meant by dumping?
viii. Why slope.df demand curve under perfect competition is zero?

ix. Differentiate between wealth and capital.

(Essay Type )
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4. Write short Answers of any six parts from the following: 2x6=12 _é/,/"gl_.lﬁ/‘?[.»lm,z;__éf;,ﬂd;j@»

; Write definition of personal income. _:é_,y;&},”’u‘;

ii. Explain about corporate income tax. ___é({flpjg(fl._r_gu?%

. iii. Define money. _5’;: - /7 J i

iv. What is meant by direct exchange or barter system? Tl /y’;(*’“ I DGerinl s,

v. Write the equation of Quantity theory of Money. -;’,J wedals J IS }ﬂ

vi. What is meant by paper money? fe il Ve

’ vii. Define national or domestic trade. -é - /7 J =N g _L.(,g

— viii. Write definition of imports. -éfuy/ﬂf@u%

. ix. Define direct tax. -iﬂgb.il/)",(ﬂu!/oi}.
Section-1I 8x3=24 (9

Note: Answer any three questions from the following.

5. Explain Law of Diminishing Marginal Utility with the help of
table and diagram.
Explain market equilibrium with the help of table and diagram.
Explain any two types of equilibrium conditions of a perfectly
competitive firm, in short run.

Define money and explain its various kinds.
9. Trace out the causes of disequilibrium in balance of payment of

a country.

892-11-A-
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